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FIFTHSEMESTER
ELECTRONICS AND TELECOMMUNICATION
ENGINEERING
SCHEME JULY 2008

INSTRUMENTATION AND CONTROL

Time : Three Hours Maximum Marks : 100

Note : i) Attempt total six questions. Question No. 1
(Objective type) is compulsory. From the
remaining questions attempt any five.

(2)

LVDTis used is

(a) Secondary transducer
(b) Primary transducer

(c) Primary signal generator
(d) None of these
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i) For underdamped system value of damping
o1 B: 9T g BRI 99T Haies 1(avgfis ratio is
UYHR @) AJfart g1 99 el & A foedl 9/ &y (a) Less thanone
g hiferg) (b) More than one
i) In case of any doubt or dispute, the English (¢) One
version question should be treated as final. (d) Zero
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iii) In land line telemetry system the telemetry
channel is

(a) Air

(b) Wire cable
(c) Both(a)and (b)
(d) None of the above
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iv) Steady

state error is given as

wE R WR g §-
(a) ess= lim SE(s)

A

(b) ¢ss=lim SE(s)

50

(c) €55= lim E(s)

5=30

(d) €ss= lim E(s)
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Explain the working of X-Y recorder. 9
X-Y Repier &t drivomett Bt a7yl

Explain the working of Nixie Tube. 9
frerdt exyg &t BrivoTER P e

Explain electronic. Instrumentation system with
neat block diagram and explain each block in
detail. 10
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Explain the working of LED diode. 8
LED SRS ! HRIGUeAT 3t Teisy|

Explain block diagram reduction techniques in
brief. 9
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Differentiate between open loop and closed loop
control system with suitable examples. 9
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5. Sketch the asymptotic bode plot for the transfer

function given below and find out: 18
a) Phase cross-over frequency

b) Gain cross-over frequency

¢) Gainmargin

d) Phase margin

e) Isitastable system.

G(s)H (5)=——0
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6. a) A closed loop control system has the
characteristics equation given by: 9
s+ 1.5s* +283 +4s2 + 55+ 10=0
Find out the stability using Routh's criteria.

T 9 IR Seier Rieed it aeRiTes adigR
59 UPK &-
s+ 1.55% + 283 + 452 + 5s + 10 =0
YIS PRICRAT &1 Sua a7 wefifed s
BT
. . C
b) Obtain the overall transfer function R from the
signal flow graph shown in figure. 9
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7. Explain any three of the following: 6 each

a)
b)
c)
d)
e)

RF telemetry system

D.C. signal conditioning

Root locus concept

Force current analogy

Time response of second order control system
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